Test: "Medical Biology - Lesson 17: Mutations".

	Task #1

	Two acrocentric chromosomes break at or close to their centromeres, the long arms of these chromosomes become joined, generating long and small chromosomes. What is this?

	Choose one of the 6 answer variants:

	1)
	+
	Robertsonian translocation

	2)
	-
	Duplication

	3)
	-
	Insertion

	4)
	-
	Aneuploidy

	5)
	-
	Inversion

	6)
	-
	Shift



	Task #2

	A diploid organism has 2n = 36 chromosomes. How many chromosomes will be found in a trisomic member of this species?

	Enter the number:

	1)
	Answer:
	37



	Task #3

	If an organism has four sets of chromosomes it is called

	Choose one of the 5 answer variants:

	1)
	-
	pentaploid

	2)
	-
	monoploid

	3)
	-
	triploid

	4)
	-
	hexaploid

	5)
	+
	tetraploid



	Task #4

	If a purine is replaced by a different purine, or a pyrimidine is replaced by a different pyrimidine, such mutation is called

	Choose one of the 6 answer variants:

	1)
	-
	insertion

	2)
	+
	transition

	3)
	-
	transcription

	4)
	-
	deletion

	5)
	-
	transversion

	6)
	-
	translation



	Task #5

	What mutation alters a codon in the mRNA, resulting in a different amino acid in the protein?

	Choose one of the 5 answer variants:

	1)
	-
	Conditional

	2)
	-
	Silent

	3)
	+
	Missense

	4)
	-
	Beneficial

	5)
	-
	Nonsense



	Task #6

	If no specific agents are associated with a mutation, such mutation is called

	Choose one of the 6 answer variants:

	1)
	-
	induced

	2)
	-
	gametic

	3)
	-
	somatic

	4)
	-
	dominant

	5)
	+
	spontaneous

	6)
	-
	recessive



	Task #7

	What mutations are interchromosomal mutations?

	Choose one of the 5 answer variants:

	1)
	-
	deletions

	2)
	-
	shifts

	3)
	-
	duplications

	4)
	+
	translocations

	5)
	-
	inversions



	Task #8

	The loss of a chromosome is called

	Choose one of the 5 answer variants:

	1)
	-
	polyploidy

	2)
	-
	translocation

	3)
	-
	inversion

	4)
	-
	deletion

	5)
	+
	monosomy



	Task #9

	Chemical mutagens include all of the following EXCEPT

	Choose one of the 5 answer variants:

	1)
	+
	radiation

	2)
	-
	free radicals

	3)
	-
	alkylating agents

	4)
	-
	base analogs

	5)
	-
	intercalating agents



	Task #10

	Corn plants normally have 20 chromosomes. Which of the following numbers of chromosomes might be found in a polyploid corn plant?

	Choose one of the 4 answer variants:

	1)
	+
	40

	2)
	-
	10

	3)
	-
	20

	4)
	-
	21



	Task #11

	What mutations show cytoplasmic inheritance?

	Choose one of the 5 answer variants:

	1)
	-
	Lethal mutations

	2)
	-
	Y-linked mutations

	3)
	-
	Autosomal mutations

	4)
	-
	X-linked mutations

	5)
	+
	Mitochondrion mutations



	Task #12

	An inversion occurs when

	Choose one of the 4 answer variants:

	1)
	-
	a piece of chromosome is lost.

	2)
	+
	a piece of chromosome breaks off and then rejoins the same chromosome in a different orientation.

	3)
	-
	a piece of chromosome breaks off and then joins another chromosome.

	4)
	-
	an extra, but identical piece of chromosome is added to a chromosome.



	Task #13

	What mutations cannot be inherited (are not passed to future generations)?

	Choose one of the 6 answer variants:

	1)
	-
	Biochemical

	2)
	-
	Spontaneous

	3)
	-
	Recessive

	4)
	-
	Gametic

	5)
	+
	Somatic

	6)
	-
	Induced



	Task #14

	The maximum of absorption of UV radiation by DNA is

	Choose one of the 4 answer variants:

	1)
	+
	260 nm wavelength

	2)
	-
	600 nm wavelength

	3)
	-
	450 nm wavelength

	4)
	-
	230 nm wavelength



	Task #15

	Which of the following changes is a transversion base substitution?

	Choose several from 6 answer variants:

	1)
	-
	Thymine is replaced by cytosine

	2)
	-
	Guanine is replaced by adenine

	3)
	+
	Cytosine is replaced by adenine

	4)
	+
	Cytosine is replaced by guanine

	5)
	+
	Guanine is replaced by thymine

	6)
	+
	Adenine is replaced by thymine



